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JAWAHARLAL NEHRU TECI{NOLOGICAI, UI,{IVERSITY HYDERABAD

B.Tech II Ye:rr Il Semester E,xaminations, N{ay - 7019
COMPUTEII OiT.GANIZAT ION

Note: This qLrestion paper contains two parts ,{ and ts.

Part A is cornpulsory which carries 25 marks. Ansvver all qLrestious in Part A.
Part B consists of 5 Units. Ansr.l,er.lnv one tirll question fl'ortr each unit. E,ach qLlestion

carries 10 rnarks and Ilay have a. b as sLtb clucstiotts.

..,.'..'.,.-...i.PART_A
(25 Marks)

What is the purpose of BUN instruction? t2)
Define computer organization. computer architecture. t3]
Contrast 8086 minimum rnode rvith tnaximutl Irode. i2]
How an address is latched in 8086? I3l
What is the need of a [inl<er? t2]
What is the dif1brence,between a macro and a procedure'? : t3]
What is the disadvantage of st.robe rnethod? t2l
Provide the hardware for signed-2's complement addition antl subtraotion. t3l
Defrne rniss penalty for cache rxemory. t2)
Drar,v the systerr bus structure lbr nrultiprocessors. t3]

PART * B
(50,\larlis)

List the registers for the basic cornputer and give their functionality in program
execution. t l 0l

OR
Describe the rricro programmed control organization and compare its advarltages over
hardwired control. [ 0.1
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Evaluate the following arithmetic statement Lrsing zero. one.

instructions. Use,the conventional s5 rnbols and instnrctions.
X = (A+B)* (C+D).

OR

"" ', '" t6'

5. Does 8086 support instruction pipelining? JLrstil,r'yorir answer lvith relevant exarnple
instructions fl 0]

Develop an assembly language program to flnd out nurnbers odd and even nurnbers in a

given series of l6.bit hexa decirnal nurnbers.
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7. Elaborate on the techniques used to pass pararneters to procedures in assernbly language
program. | 0j
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Show the step-by-step multiplication process using Booth algorithm when the following
binary numbers are multiplied. (+33) x (-12).

OR
ll0l

Design acircuit fora4 x 4 First In FirstOut Butferand explain its functionality. [0]

A digital cornputer has a rnemory unit of 64K * l6 and a cache rnemory of 1K words.
The cache uses direct rnapping rrith a block size ot'4 r,rords.

(a) How rnany bits are there in the tag. index. block and word flelds of the address

format?
(b) How many bits are there in each word of cache and horv are the1, divided into
function? include a valid bit. lt 0l
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